n"'p7n D"AYWY 7INS - 0797 hiNnna

D2IYVI D"'YNN D'YIY -1 m.'m'1 NXnarT

25 +1 A B C

F = =7 +
s(s+D)(s+4) s s+1 s+4

25s+1=A(s+1)(s+4)+Bs(s+4)+Cs(s+1)

s:OSI:A-4:A:%

s=—1:—1=B-(—1)-3:B=%

s:—4:>—7=C-(—4)-(—3):>C:—%

AL 11 ., 7 4
F, =S4t f,=—+—e¢ ——e
® e s+l s+4 S 4 3 12

D'IIY D"'YUNN D'YNIY -2 'ﬂ'\.'"]'? NnarT

1 A B C
5) = 7 = + 7T
(s+D(s+4)” s+1 (s+4)° s+4

1=A(s+4)° +B(s+ 1)+ C(s +1)(s + 4)

s:—I:I:A-32:>A:é

s:—4:>1:B«(—3):>B:—%

s:0:1:A-16+B+C-4:C=#:_é

N |I'n Y n0'"7n DMWY 7N



] —1 1
— A + A - + A ::f(t):le—t —lt'e_4t _le—4t
s+1 (s+4)° s+4 9 3 9

(8)

D'2OINN D'WNIY DY -3 NN XNAIlT

5 A Bs+C
Fs) = 2 = T
(s+D(s"+25+5) s+1 (s”+2s+5)

5=A(s* +25+5)+(Bs+C)(s+1)
5

s:0:>5:A~5+C:>C:5—5A:_%

s:1:>5:A~8+(B+C)-2:>B:%:_%

_ + — %S =% _é( 1 s+1 ]

O TSl (sP+2545) 4ls+l (s 422

Jo = %(e_t —e ' cos(2t))

AR I'N Y D''7n DMAYY N9



N |I'n Y

o'7'aan

NIXRAN NI'XI9N 7w nIdN NNNNN k¥n - L1

F(s)=— S*6 . p=—271
(s“+25+10)-5 (s+1)-(s+4)
s2 42541 10
F(S):z—.'f F(S):f.)
(s =D(s+1) (5+9)“(s—-1)
Fs) = 16
(s+3)(s+D(s+9)
J'7nwn nwn mma ka2
VO/Vi(s) nwan 7w Monnn N'¥jaIo NX XX .X
Vi)=9-¢7* qay V2(t) awn a2
Vi(t) =5 v V2(t) awn
R
in 2k out
N \N . 4 O

D"p'7n DMNAYY PN



N |I'n Y

nnivn

f)=—e"+3e" X

3 3 2
H==—=e"-cos@Bt)+—e"' -sin(3t) .2
Q) 573 31) T (31)

1o o 1,
H)=(-t—-—)e " +— 2
J@)=( 10)6 10¢

|

f=¢

f()=—4e™ +2e +2¢ .n

Q(S)— 1 1 _ 500
v 1+sCR 1+2-1073s s+500

1

500 9
5+500 s+200

Vo(s) =

v, (1) =—15¢""" +15¢*

500 5

Vy(s)= —
o(5) s+500 s

v (t)=5-5e""

n0'"7n DMWY 7N



